5.7 Operações Aritméticas com números de Ponto Flutuante

Para somar dois números na base 10 em notação científica temos que:

1. alinhar os pontos decimais

2. somar os números

3. normalizar o resultado

4. arredondar o resultado para o número máximo de casas permitido

Exemplo: Some o número 9.999 x 101 com o número 1.65 x 10-1. Apresente o resultado com quatro dígitos significativos.

1. Alinhamos o ponto decimal do número de menor expoente:

1.65 x 10-1 => 0.0165 x 101
2. Somamos

0.0165 x 101 + 9.999 x 101 = 10.0155 x 101
3. Normalizamos

10.0155 x 101 => 1.00155 x 102
4. Arredondamos

1.00155 x 102  => 1.002 x 102 - OK
Um hardware para somar números de ponto flutuante tem que fazer as mesmas operações com números binários. O algoritmo para soma de números em ponto flutuante abaixo pode ser implementado em hardware.
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FIGURE 4.41 Floating-point addition. The normal path is to execute steps 3 and 4 once, but if
rounding causes the sum to be unnormalized, we must repeat step 3.




Vamos ver um exemplo do uso do algoritmo acima.

Exemplo: Some os números 0.5 e –0.4375 em binário e apresente o resultado com 4 bits de precisão; trunque o resultado na fase de arredondamento.

Primeiro, vamos converter os números para notação binária:

0.5 = 1/2 = 0.1 (binário) = 0.1 x 20 = 1.000 x 2-1
-0.4375 = -7/16 = -7/24 = -0.0111 (binário) = -1.110 x 2-2
Passo 1: Igualar os expoentes (modificar o número menor)


   -1.110 x 2-2 => -0.111 x 2-1
Passo 2: Somar as partes significantes


1.000 x 2-1 + (-0.111 x 2-1) = 0.001 x 2-1
Passo 3: Normalizar o resultado


0.001 x 2-1 => 1.0 x 2-4
Passo 4: Arredondamento


1.000 x 2-4
O número final (acima)  já está OK.

O hardware abaixo pode ser utilizado para soma de números de ponto flutuante conforme o algoritmo apresentado.

[image: image2.jpg]Sign

Exponent

Significand

Sign

Exponent

Significand

A

y A

s

MI ALU

y

Exponent

difference

A4

v A 4

—.(o

01)

l)l_.(

v

Control

4

Shift right
\ 4 v
Big ALU
) !
Increment or L)

Decrement

Shift left or right

L__l

A

Rounding hardware

v \

y v

Sign

Exponent

Significand

FIGURE 4.42 Block diagram of an arithmetic unit dedicated to floating-point addition. The
steps of Figure 4.41 correspond to each block, from top to bottom. First the exponent of one oper-
and is subtracted from the other using the small ALU to determine which is larger and by how
much. This difference controls the three multiplexors; from left to right they select the larger expo-
nent, the significand of the smaller number, and the significand of the larger number. The smaller
significand is shifted right and then the significands are added together using the big ALU. The
normalization step then shifts the sum left or right and increments or decrements the exponent.

Rounding then creates the final result.




A subtração, multiplicação e a divisão em ponto flutuante seguem um raciocínio equivalente ao da soma.

5.8 Aritmética Precisa

Diferente da aritmética inteira, que nos computadores representa exatamente o seu equivalente matemático, a aritmética de ponto flutuante é apenas uma aproximação de sua equivalente matemática. 
Isso acontece porque, na matemática, existem infinitos Números Reais entre 0 e 1, por exemplo. Por outro lado, na aritmética de ponto flutuante, existe um certo número de números do ponto flutuante apenas.

A figura abaixo apresenta as instruções de ponto flutuante da MIPS ISA.
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Name Example Comments
32 floating- MIPS floating pointer registgrs are used in pairs for dom_.lble pfecision
! RO IR e e R numbers.0dd numbered registers cannot be used for arithmetic or branch,
ROGToge just for data transfer of the right “half” of double precision register pairs.
230 Memory[0], Accessed only by data transfer instructions. MIPS uses byte addresses, so
memory Memory[4], . . ., sequential words differ by 4. Memory holds data structures, such as
words Memory[4294967292] arrays, and spilled registers, such as those saved on procedure calls.
MIPS floating-point assembly language
Category Instruction Example Meaning Comments
FP add single add.s $f2,$f4,$f6 |$f2 = $f4 + $f6 Floating-Pt. add (single prec.)
FP subtract single sub.s $f2,$f4,$f6 $f2 = $f4 - $f6 Floating-Pt. sub (single prec.)
FP multiply single mul.s $f2,$f4,$f6 $f2 = $f4 x $f6 Floating-Pt. multiply (s. prec.)
v FP divide single div.s $f2,$f4,$f6 $f2 = $f4 $f6 Floating-Pt. divide (s. prec.)
FP add double add.d $f2,$f4,$f6 $f2 = $f4 + $f6 Floating-Pt. add (double prec.)
FP subtr. double sub.d $f2,$f4,$f6 $f2 = $f4 — $f6 Floating-Pt. sub (double prec.)
FP mult. double mul.d $f2,$f4,$f6 $f2 = $f4 x $f6 Floating-Pt. multiply (d. prec.)
FP divide double div.d $f2,$f4,$f6 $f2 = $f4  $f6 Floating-Pt. divide (d. prec.)
Data load word copr. 1 Ilwel $f1,100($2) $f1 = Memory[$2+100] 32-bit data to FP register
transfer store word copr. 1 swel $f1,100($2) Memory[$2+100] = $f1 32-bit data to memory
branch on FP true bcit 100 if (cond==1) go to PC+4+100 |PC relative branch if FP cond.
Condi. branch on FP false bcif 100 if (cond==0) go to PC+4+100 |PC relative branch if not cond.
tional FP compare single c.lt.s $2,$f4 if ($f2 < $f4) Floating-Pt. compare less than
branch (eq,ne,lt,le,gt,ge) cond=1; else cond=0 single precision
FP comp. double c.lt.d $f2,$f4 if ($f2 < $f4) Floating-Pt. compare less than
(eq,ne,lt,le,gt,ge) cond=1; else cond=0 double precision
MIPS floating-point machine language
Name Format Example Comments
add.s R 17 16 6 4 2 0 add.s $f2,$f4,$f6
sub.s R 17 16 6 4 2 1 sub.s $f2,$f4,$f6
mul.s R 17 16 6 4 2 2 mul.s $f2,$f4,$f6
div.s R 17 16 6 4 2 3 div.s $f2,$f4,$f6
add.d R uly g 17 6 4 2 0 add.d $f2,$f4,$f6
sub.d R 17, 17 6 4 2 1 sub.d $f2,$f4,$f6
mul.d R 7 17 6 4 2 2 mul.d $f2,$f4,$f6
div.d R 17 17 6 4 2 8 div.d $f2,$f4,$f6
lwel | 49 2 1 100 lwel $f1,100($2)
swcl | 5% 2 i 100 swcl $f1,100($2)
bcit | 17 8 4 100 bcit 100
bclf | 17 8 0 100 bcif 100
c.lt.s R i 16 4 2 0 60 |c.lt.s $f2,$f4
c.lt.d R 1 17 4 2 0 60 |c.lit.d $f2,$f4
Field size 6 bits 5 bits 5 bits 5 bits 5 bits | 6 bits | All MIPS instructions 32 bits

FIGURE 4.44 MIPS floating point architecture revealed thus far. See Appendix A, section A.10 on page A-47 for more

detail.





Esta tabela mostra o quanto cada uma das instruções estudadas até agora é usada em dois programas reais: gcc – um compilador, e spice – um programa para analisar o comportamento de circuitos elétricos.
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add add 0% 0% multiply mult 0% 0%
add imm. addi 0% 0% multiply unsigned multu [ 0% 0%
add unsigned addu 8% 13% divide div 0% 0%
add imm. uns. addiu | 16% 6% divide unsigned divu 0% 0%
subtract sub 0% 0% move from hi mfhi 0% 0%
subtract unsigned subu 1% 1% move from lo mflo 0% 0%
and and 2% 1% move from system control mfco 0% 0%
and imm. andi 2% 1% f.p. add single add.s | 0% 0%
or or 2% 0% f.p. add double add.d | 0% 5%
or imm. ori 0% 1% f.p. subtract single sub.s | 0% 0%
shift left logical s11 8% 6% f.p. subtract double sub.d | 0% 3%
shift right logical sri 2% 1% f.p. multiply single mul.s [ 0% 0%
load upper imm. Tui 2% 0% f.p. multiply double mul.d [ 0% 6%
load word Tw 22% 11% f.p. divide single div.s | 0% 0%
store word sw 11% 5% f.p. divide double div.d [ 0% 3%
branch on equal beq 8% 5% load word to f.p. single 1S 0% 0%
branch on not eq. bne 8% 1% load word to f.p. double 1 0% 15%
jump J 0% 0% store word to f.p. single S5 0% 3%
jump and link jal 1% 1% store word to f.p. double s.d 0% 6%
jump register Jir 1% 1% branch on f.p. true bclt 0% 1%
set less than st 3% 1% branch on f.p. false bclf 0% 1%
set less than imm. slti 1% 0% f.p. compare single X8 | 0% 0%
set less than uns. sltu 1% 0% (x = eq, neq, It, le, gt, ge)

set less t. imm. uns. sltiu | 1% 0% f.p. compare double c.x.d | 0% 2%
Column Total 100% 55% Column Total 0% 45%

FIGURE 4.46 The frequency of the MIPS instructions for two programs, gec and spice. (Calculated from “pixie” out-
put of the full MIPS instruction set and then converted to equivalent instructions from the MIPS subset in the table.)
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